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1.(6%) For the network N; and a flow shown below, each arc is labeled with its capacity and the flow along the arc.
Determine the missing flows a = _ O

Landc=

2. For the network A; and a flow f shown above, each arc is labeled with its capacity and the flow along the arc.
(@) (6%) Let P=(s, x,w). Whatis f(P.P)? __§ _and (P P2 ||

(b) (1 2%) Find g maxinyum flow and a minimum cut for Ny
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3.(16%) For the graph G, determine
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(@) the connectivity K(G)= 2, v
v A

(b) the edge-connectivity AG) = <3, g s

(©) K{ve, v) N
(d) A(vs, v

4.(10%). Let G be an n-connected graph of order p. Show that p > n - diam(G) —n + 2.
Choose tuso vertiveg u.z with deagd =diaml&)
VG & m-onnected
\ theee euits n intemally - daoi u~71/al‘ll1, say PP R

= P z[wp,)u VP U0 VP | 2 A(diani@)~1 )42 = 2 diam(g) n+2.
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[image: image2.jpg]5. (5%) Show that C3xK; is 1-factorizable.
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6. (15%) Let G be the given graph. The edges of a matching M are shown in bold. Beginning with M and use
Algorithm 6.2 to find a maximum matching for G. (JF513812)
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6. (10%) For what values of m and n will the graphs K, , be eulerian?

Ko ETRE degree @5 even > mNEF L even

7. (a) (4%) How many cyeles does each edge of Ki,q belongs to?
(b) (6%) How many cyeles does each edge of K,,,, (where m, n > 2) belongs to?
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8. (10%) Solve the Chinese Postman Problem for the given graph G (FF 5 TEFZ)
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